
Hughes, Exh. 1200, p. 1

a. A linear transformation operation includes an irregular repetition of 
input bits if and only if it simply repeats each input a different number 
of times. For example, consider the operation: 

1 1 0 0 0 0 0 0 l 
[u 1 it 2 u 3 ] 0 0 1 l 1 0 0 Oj=l.u1 u1 u2 u2 u2 u3 u.3 -u 3 .. l 

0 0 0 0 0 1 1 1 

h. A linear transformation operation includes an irregular repetition of 
input bits if some output bits are affected by different numbers of 
inputs bits. For example, consider the operation: 

l 0 1 0 0 0 l 

[ll1 Uz ll 3) 0 1 0 1 0 1 0 1 = [u1 + U3, U2 + U3, U1, U2, U3, U2, Uv l.t1 + U2] 

1 0 0 1 0 0 0 

(; 

EXHIBIT 

' I /~OD 
l&fa~b /MW 

f 

 

Find authenticated court documents without watermarks at docketalarm.com. 

https://www.docketalarm.com/

